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‘ LRK-100N 100N 10.19kgf 55 42 12 16 -- M6 P1 b 0.17 ‘
LRK-200N 200N 20.39kgf 55 42 12 16 == M6 P1 | == 0.17
‘ LRK-500N 500N 50.99kgf 85 58 20 24 40 M12 P1.75 ;15 M5 ;%8 0.65 ‘
LRK-1KN 1KN 101.9kgf 85 58 20 24 40 M12 P1.75 ;15 M5 ;&8 0.65
‘ LRK-2KN 2KN 203.9kgf 85 58 20 24 40 M12 P1.75 ;#15 M5 ;%8 0.65 ‘
LRK-5KN 5KN 509.9kgf 85 58 20 24 40 M12 P1.75 ;€15 M5 ;&8 0.65
‘ LRK-10KN 10KN 1.019tonf 105 78 32 36 60 M18 P1.5 F22 M6 ;£10 1.65 ‘
LRK-20KN 20KN 2.039tonf 110 88 35; 40 60 M18 P1.5 ;F22 M6 E10 2.25
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